Binomail Distribution

l

Experiment
Two outcomes

(coin: head, tail ), (Death,life), ( fail,success), (present,absent)

Success(S) Failure (F)
(what written in the question)
Al ) 4y gl L

P(Success)=P(S) = p (Given) P(Failure)=P(F) = qg=1-p

* n : Sample size or number of repeating the experiment

( n given in the question)

X : Number of successes , 4wl all 43 2ig5 L

X=0,1,2,3,4,...cccccucune. n

e The parameter of Binomail distributionis n, p
° X ~ Bin(n,p)

e The mean is L=nXxp

e The variance is G2 = NXpxq

e The standard deviation is o= W




